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Q1. 2,5,14,41,125,365
(a)5

(b) 14

(c)41

(d) 125

(e) 365
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Q2. 1,3,8,19,42,91
(a) 42

(b)a1

(c) 19

(d)8

(e)3
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Q3. 23,30,21,32,19,35
(a) 23

(b) 30

(c) 35

(d) 19

(e) 32
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Q4. 10,17,26,37,50, 64, 82
(a) 17
(b) 37
(c) 50



(d) 82

(e) 64
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Q5. 16,4,8,2,6,1

(a) 6

(b) 4

(c)8

(d)2

(e) 16
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Q6.11, 75, 291, 803, 1813, 3531
(a) 803

(b) 1813

(c) 3531

(d) 75

(e) 291
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Q7.3.6, 10, 22.8, 48.4, 99.8, 202
(a) 22.8

(b) 48.4

(c)99.8

(d) 202

(e) 10
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Q8. 3, 4, 10, 33, 136, 685, 4216
(a) 33

(b) 136

(c) 685

(d) 4216

(e) 10
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Q9.1020, 1152, 1292, 1440, 1592, 1760
(a) 1152

(b) 1760

(c) 1440

(d) 1592

(e) 1292
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Q10.4.8, 2.4, 3.6, 12.6, 82.9, 859.95
(a) 859.95

(b) 2.4

(c) 3.6

(d)12.6

(e) 82.9
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Q11.2, 11,22,37,57, 87
(a) 87

(b)11

(c) 57

(d) 37

(e) 22
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Q12.1, 2.4,5.76, 14.824, 33.1776
(a) 2.4

(b) 14.824

(c) 33.1776

(d)1

(e) 5.76
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Q13.4,11, 20,33,52,77
(@) 77
(b) 11
(c) 20
(d) 33
(e) 52
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Q14.8,4,10,5,13.5, 6.25
(a) 4

(b) 13.5

(c) 10

(d)5

(e) 6.25
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Q15. 256,400,576, 788, 1024
(a) 400

(b) 576

(c) 788

(d) 1024

(e) 1156

Solutions

S1. Ans. (d)
Seriesis= 3 -1, x 3-1, »x3-1,.....

Sol. o Wrong term = 125

S2. Ans. (b)

Seriesis = 241, = 242, = 243, = 2+4....

. Wrong term =42 = 2+5=89 #| 91

Sol.

S3. Ans. (c)
Seriesis7,-9,+11,-13 ,+ 15

~. Wrong term = 35
Sol.

S4. Ans. (e)



Seriesis 32+ 1=10
4241=17
52+1=26
62+ 1=37
72+1=50
82+1=|65

92+1=82

Sol. .. Wrong term = 64

S5. Ans. (a)
Seriesis =4, %2, = 4, % 2, ..o

S Wrongterm =6
Sol.

S6. Ans.(b)
The pattern is +4%, +6%,+8%, +10%, +123%, ... ...
~ Wrong term = 1813 = 803 + 1000 = 1803

Sol.
S7. Ans.(c)
Series is
99.6
3.6 10 228 48.4 99 8 202
| Tl T1 T T )
+5.4 +12.8 +25.6 +51.2 +102.4
| i) T Il 1)
®2 w3 wd xd
Sol.
S8. Ans.(d)
Pattern is
x]1+1, x242, x3+3, xd+4, x5+5, x5+6
Sol ~Wrongterm=4216+685=x6+6=4116
ol.
S9. Ans.(d)
Seriesis 327 — 4 = 1024 — 4 = 1020
34° —4=1156 —4 = 1152
36° —4=1296 —4 = 1292
387 —4 = 1444 — 4 = 1440
40° — 4 = 1600 — 4 = 1596
427 —4 = 1764 — 4 = 1760
Sol.

S10. Ans.(e)



Patternis x 0.5, ®x 1.5, % 3.5, % 6.5, % 10.5

| ~ Wrong term =829 #12.6 x 6.5=81.9
Sol.

S11. Ans.(c)

Pattern is
+9, +11, +15,+21, +29
~wrong term =37 +21 =58 # 57

Sol.
S12. Ans.(b)
Patternis 2.4, 2.4, 22,4, =2.4
Sol ~wrongterm =14.824 #5.76 x 2.4 =13.824
S13. Ans.(a)
Series is
not 77
| 11 20 33 52
l 4| #| 4| 4|
+7 +0 +13 +19 +27
l 4 4 4 4
Sol. +2 +4 *6 +8
S14. Ans.(b)
Pattern is +2, x2.5, +2, x2.5, =+ 2,.....
gol. - Wrong term = 13.5#5x25=125
S15. Ans.(c)

Series is 162, 202, 242, 282, 322, .
Sol, - wrong term = 788 # 28°



